K0483

[ ]
Ed J{UlE] X S ok=Mnl=
§E HYE MY U20|5
ES MYH/NIE o|o|x|
MO
=
THE!:
AdZ20lE HARL AT SE A3 F DIN 7984 L €2t L{E DIN 985, &
EE'I
EM OpR2]:
s oot
AASE AT USZ HE ol 3
Al
1H2 S|E BN
MMM E]:
HE A Az FE K0493
=N
,
14
(NP,
L A
P
) «‘\ | /)
L B
A
ES QY%
585 7{4lE M AR0|F
F2HS Ef] A B C D L P Q R S
K0483.52020 A 20,1 - 53 40 80 33 60 22,5 M8x25
K0483.52525 A 25,1 - 53 40 80 33 60 22,5 M8x25
K0483.53030 A 30,1 - 53 40 80 33 60 22,5 M8x25
K0483.54040 A 40,17 - 73 56 120 40 94 32 M10x30
K0483.55050 A 50,22 - 84 66 140 45 114 38 M10x35
K0483.56060 A 60,27 - 103 80 150 58 118 47 M12x45
K0483.53025 B 30,1 25,1 53 40 80 33 60 22,5 M8x25
K0483.54032 B 40,17 32,15 73 56 120 40 94 32 M10x30
K0483.55040 B 50,22 40,17 84 66 140 45 114 38 M10x35
K0483.56048 B 60,27 48,27 103 80 150 58 118 47 M12x45

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



Kinn

£ F{UE| MY AR0lE

T =1 L

=29

o

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



